3.3

a o
D ux)= x*-3x*+2x*, (x>0 Xx-o00)

X +2x?
(2) U(X)— 3)(4——)(3 (X—»O X—»OO)

B uX) = Vx*+ ¥x* (x-0+ X +oo)
(@) u(x) = Yx+vVx+/x (X>0+ X +o0)

(BG)u(x) = v1+3x - ¥1+2x (X-0 X +o0)

(6) u(x) = Vx*+1 - X (X— +o0)

3

(M ux) = Vx*+x - x2 (x—04+)
B)u(x) = Vi+xJ/x - e* (x-0+)

(9) u(x) =In cos x - arctan x*(x - 0)

(10) u(x) = vi+tanx - +1-sinx (Xx-0)
1 ux) 2x°(x>0) u(x) x°(x—> )

2 u(x) -2xt(x->0 ux %x(x—mo)

2 3
3 ux) x3(x—>0+) u(x) X2 (X—>+w)
1 1

4 u(x) xB(x—>04) uX) X2 (X—>+x)
1
5 u(x) %x (x—>0) u(x) /3x2 (X +0)

6 u(x) %x‘l (X = +0)

1
7 u(x)  x2(x—04)

8 u®x) -—-2x(x—0+)
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9 u(x) —%xz(x—>0)
10 u(x) x(x—0)

2.(1) Xo+too

a* (@ 1), x*, x* (« 0 In*x (k 0 [x]!

(2) x>0+
x* (o 0) ﬁ 2 @ 1) (3 W(%) k 0)
1 X - +oo

In“x (k 0) x* (a« 0) a* (a 1), [x]!, x*

a a X n+1 1 1
n<x<n+1 O<X—<(n+1) O<a <a O<[X]'<(n+1)'
a a" [X]! nl xX n"
a n+1 1 a
im MDY o gim @ o gim 0D lim X =0
n—ao a" n—»o nl R x—+0 g%
X | k k
lim 2 —o 1im X lim X im Y _0 (y=Inx)
N—oo [)(]' n—w y* X—>+0 X% y—+o (ea)y
2 X - 0+

[1)‘* 1@ 1) x (a0 m—k@ (k 0)

y=1 X -0+ y =+ 1
X
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N

w

o1

\l

lim

V1+x—3¥/1+2x?

lim

x—0

In(1+ 3x)

Xlirpw(\/x+\/x+x/;-\/;)

X

a

1-+/cosx

x>0 1 — cos~/X

o

lim (V1+x+x? - J1-x+x%)

X—>+0

. X
m e @0 ima @9
lim x (In (1+x) - In X ) lim nX=na o)
X—>+00 X—>a a
1
1 X2 XT
lim (x+e*)* lim (cosx——}
x—0 x—0 2
limn (¥Yx-1) (x 0) limn?(¥x - "¥x) (x 0)
1 i Yt —R1+2x? m(\/l+x—1)—(3\/1+2x2 -1
x>0 In(1+ 3x) x>0 In(1+ 3x)
1 2,
“Xx—=x
~lim2_3 _1
x—0 3x 6
1.
lim L=VCOSX _ . 1-cosx 2 _0
%0 1 — oS /X. 0 (1—cos/x)(1+vcosx) “Ofx(l +c0sX)
lim (yx++vx+~/x -4/x)= lim e = lim i—l
X—>+00 X—>+00 'X+ X 4+ /X +\/_ X—>+0 2\/_ 2
lim (V1+x+x% - V1—x+x2)= lim 2X =1

X—>+00

o 14 x4 X2 41— X+ X2

. a*—-a* . a 1 a’(x—a)lna
lim Cim 2@ D i XX a)na ey
X=»a X—o X—a X—a X—=a X—
X X—a
aln™ a’alnl+-—)
. ox*—a% . a%(e -1 .
lim = lim ¥= lim a
X—>a X_a X—>a X_a X—>a X_a
X—a
a“a-——"
= lim a —pa*t
X—a X—a
1
In(L+~)
limXx (In (1+x) - In X )= lim X 1
X—>+0 X—>+00 1

X
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InL+ X~ %

. Inx—Ina . 1
8 lim—— lim——2& =
X—a X—a X—a X—a a

1 1 1

9 lim (x+e*) = lim (L+x+e*-1)x = lim (1+ 2x)% = e?

1
2

2 \x 2 \x 1
10 Iim[cosx—X?] :Iim(l—(l—cosx)—%) :|im(1—X2)x2

1
2

x>0 x—0 x—0

1
11 Iimn(Q/;-l):limn(eHI —):Iim(n-llnx):lnx

n—oo n

1 1

) 2 1 1
=limn°Inx =———||=InXx
n—o n n+1
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3.4

1. f(x) [a+) lim f(x) =A
f(x)  [a+)

lim £ (x) =A X >a wx>X |f(x)-A<1
A-1< f(x)< A+l f (x) [a, X] f ()
[a, X] vx e[a, X] [f(x)|<B M = max{B, A+1}
m = min{-B, A—1} Vx e [a,+x) m< f(x) <M
2, f(x) (a,b) fla+)  f(b-)

fla+) f(b-)

f(x) xe(ab)
f(x)={f(a+) x=a

f(b-) x=b
f(x) [a,b] f(a+) < f (b-)
f(%) [a,b] [f(a+), f (b-)]
f(x) (a,b) fat)  f(b-)
3. [a,b] f(x) f(a) f(b)
f(x) [ab]
f (X) Se(ab) f(x)
f(&-)  T(5+) f(a)< f(S-) < f(f+) < f(b) f(x)
(f(5-), F(&+) f($) x=a f(x)
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f (a+) f(a) < f(a+) < f(b) f(x)

(f(a), f (a+)) x=b
f (x)
4. Bolzano-Weierstrass
f (x) [a,b]
x,} x,elab] | (x,)]>n lim £ (x;) = o0 Bolzano-Weierstrass
Mo ) limx, =& gelab] f) ¢
lim £ (x,, ) = () lim £ (x,) =
o.
f (x) [a,b] f(a)f(b) <0 a=a, b=Db

f(@ <0 f()>0

f(a1+b1) 0 f(a1+b1)<0 a, a,; +b
2 2
f(a2+b2) 0 f(a2+b2)<O a3:a2+b2
2 2
by =b, f(a2+b2) 0 a3 =& b3:a2+b2
2 2
" f(ak+bk) 0
" f(ak+bk) 0
{[an,bn]} f(a,)<0 f(b,)>0
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[a,.b,] & lima, = limb, =¢& f(X)

S f)=limf(a,)<0 f(5)=limf(b,)>0
f(£)=0
6. x=asinx+b ab>0
f(x)=x—-asinx—b f(x)  [0,+x) A>a+b
f(0)<0 f(A)>0 f(x) (0,A)
7 X*+px+q=0 p>0
f(x) =X+ px+q f(X)  (—o0,+00)
Jim f(x)=—0  lim f(x)=+e0 f(x) (o0, 4e0)
8
1 sin% 0,1 @l)@a o)
2 sinx®  (—oo0,+o0) [0,A]
3 Vx  [0+w)
4 Inx [L+w)
(5) cosvx  [0,+w)
1 (02) x,‘1=% X;:nﬁi” Xy — X, =0
sini,—sini =1 sini 0,1
X, X, X

@ (@ 0) Ve>0 s=a%>0 Vx,X,e(@l) [x-X|<&

.1 o1
SIN — —SIN—
X Xy

1 1

X X

< % =%
<=

< <&
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sin% @l) @ 0)

. T " . "
2 — 00,+00) X, = n7r+E X, =Nz X, —X, =0

‘sin(x; )2 —sin(x; )2

SiNx? (o0, +)

=1

[0, Al Ve>0 5:i>o VX, X, €[0,A]  [x — X, <6

‘sin X¢ —sin x%‘ s‘xf —x%‘ <S2Ax —X,|<¢e

sinx®> [0,A]

3 Ve>0 S=e2>0 VX, X, €[040) |x —X,|<S
‘\/_ \/Z‘ Jx—x| <e

Vx  [0,+)

4 Ve>0 S=e>0  Vx,X e[l+0) 0<x —X,<J
n[l+x1_x2]
X2

5 Ve>0 S=e2>0  Vx,X, €[040) |x —X,|<S

‘cos\/_ cos\/Z‘ ‘\/_ \/Z‘ Jx = x| <&
cosv/x  [0,+)

Inx, —Inx,| =l <|x —Xp| <&

InX  [1,+)

P X 0 P 1,()

1,(0) f(0)=1,0)-1,0) [0,7] f(0)=—f(x)
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0, € [0,7] f(0,)=0 ,(8,) =1,(6,)

10 f(x) [0,2] f(0) = f(2) X,y €[0,2]
y-x=1 ()= f(y)
FoO=fx+D)-f(0  F)  [01] F()=-F(0)
X, €[0]] F(%,)=0 Yo =X +1 X0, Yo €[0,2] Yo —X, =1

f(X0) = f(¥o)
11 f (x) (a,b) f(x) (ab)
f(x) (ab) f(a+) f(b-)

f(x) xe(ab)
f(x)={f(a+) x=a

f (b-) Xx=b
() [a,b] f(x) [ab] f(x) (ab)
12
1
2
1 f(x) g(x) | Ve>0 36>0
v, x'el  |x—x]<s FOO=Fe) <5 o) -9 <
[f () +gOOI-Lf (x) +g(x)] <
F(x)+9(x) !
2 f(=9g(0=x I=[0+0)  f(0 9 !
F()g(x) =X’ !
13. f(x) [ab] f(x) =0, x e[a,b] f(x) [ab]
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f(x) [a,b] X', x"e[a,b]

f(x)  F(x")

gelx,x] f(&)=0 f(x) [ab]

14 f(x) [ab] asx <X,<--<X, <b

F() = 2L (x)+ F00) +++ F(x,)]

min {1 (0} < = [F () + £0) -+ £ ()] < max{ (0}

xe[a,b]
[ab] ¢
F() = 2L (x)+ F00) +++ F(x,)
15 F(x) [a+w) lim £(x) = A( )
[a,+0)

lim f(x)=A Ve>0,3X >a, vx',x"> X :[f(x)- f(x")|<e
X—>+00
[a, X +1]
F0<6 <1, WX, x"efa, X +1] (x—x{< ) : [ (X) - f (x")| <&

X', X"e[a,+o0) (XX < &) : [T (X) - f (x")| <&
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[a,b]

f(x)

f(x)



